Journal's Title, Vol. x, 20xx, no. xx, xxx - xxx HIKARI Ltd, www.m-hikari.com http://dx.doi.org/10.12988/

# The Fractal Structure of the Universal Steenrod Algebra: An Invariant-theoretic Description

Maurizio Brunetti and Adriana Ciampella

Dipartimento di Matematica e Applicazioni "Renato Caccioppoli"
Università degli Studi di Napoli "Federico II"
P.le Tecchio 80, 80125 Napoli
maurizio.brunetti@unina.it, adriana.ciampella@unina.it

Copyright © 2014 Maurizio Brunetti and Adriana Ciampella. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

#### Abstract

As recently observed by the second author, the mod2 universal Steenrod algebra Q has a fractal structure given by a system of nested subalgebras  $Q_s$ , for  $s \in \mathbb{N}$ , each isomorphic to Q. In the present paper we provide an alternative presentation of the subalgebras  $Q_s$  through suitable derivations  $\delta_s$ , and give an invariant-theoretic description of them.

Mathematics Subject Classification: 13A50, 55S10

**Keywords:** Steenrod Algebra, Invariant Theory

#### 1 Preliminaries

The mod 2 universal Steenrod algebra  $\mathcal{Q}$  is the  $\mathbb{F}_2$ -algebra generated by  $x_k$ ,  $k \in \mathbb{Z}$ , together with  $1 \in \mathbb{F}_2$ , subject to the so-called *generalized Adem relations*:

$$R(k,n) = x_{2k-1-n}x_k + \sum_{j} {n-1-j \choose j} x_{2k-1-j} x_{k-n+j},$$
 (1.1)

for  $k \in \mathbb{Z}$  and  $n \in \mathbb{N}_0$ .

First appeared in [16], such algebra is isomorphic to the algebra of cohomology operations in the category of  $H_{\infty}$ -ring spectra (see [7], Ch. 3 and 8). Together with its odd p analogue Q(p), the universal Steenrod algebra Qhas been extensively studied, among others, by the authors ([1]-[6], [8]-[10], [11]-[14]).

Let  $\lambda: \mathcal{Q} \to \mathcal{Q}$  be the algebra homomorphism defined by

$$\lambda(1) = 1$$
 and  $\lambda(x_h) = x_{2h-1}$ .

Its s-th iterated map  $\lambda^s$  maps  $x_h$  onto  $x_{2^s(h-1)+1}$ . In [8], the second author proved that  $\lambda$  is a monomorphism of algebras. Furthermore, the subalgebras  $Q_s = \lambda^s(Q)$  have the following presentation:

$$Q_s = \langle \{x_{2^s h+1}\}_{h \in \mathbb{Z}} \mid R(2^s t + 1, 2^s n) = 0 \rangle.$$
 (1.2)

### 2 A derivation on $Q_s$

Let  $d: \mathcal{Q} \to \mathcal{Q}$  be the derivation given by  $d(x_k) = x_{k-1}$ .

In [11], Lomonaco proved that Q is isomorphic to the algebra generated by the set  $1 \cup \{x_k\}_{k \in \mathbb{Z}}$  with relations  $d^n(x_{2k-1}x_k) = 0$  for  $n \in \mathbb{N}_0$ , where  $d^0$  is the identity, and

$$d^n = \underbrace{d \circ \cdots \circ d}_{n \text{ times}} \qquad \text{for } n > 0.$$

To compute the action of some particular  $d^n$ 's on monomials of length 2, we need the following Lemma.

**Lemma 2.1.** Let p be any prime. For any non-negative integers a, b and s, the following congruential identity holds:

$$\binom{p^s a}{p^s b} \equiv \binom{a}{b} \bmod p.$$

*Proof.* Once you write a and b as  $\sum_{i=0}^{m} a_i p^i$  and  $\sum_{i=0}^{m} b_i p^i$ ,  $(0 \le a_i, b_i < p)$  respectively, then

(see [18], I 2.6). From (2.1), where, as usual,  $\binom{0}{0} = 1$ , our Lemma follows quite easily.

**Proposition 2.2.** For any  $(h,k) \in \mathbb{Z} \times \mathbb{Z}$  and  $(s,n) \in \mathbb{N}_0 \times \mathbb{N}_0$ ,

$$d^{2^{s}n}(x_{h}x_{k}) = \sum_{j=0}^{n} {n \choose j} x_{h-2^{s}j} \ x_{k-2^{s}(n-j)}.$$
 (2.2)

*Proof.* Being d a derivation, a straightforward argument shows that

$$d^{\ell}(x_h x_k) = \sum_{j=0}^{\ell} {\ell \choose j} x_{h-j} \ x_{k-\ell+j}.$$
 (2.3)

When  $\ell = 2^s n$ , Equation (2.3) becomes

$$d^{2^{s}n}(x_{h}x_{k}) = \sum_{l=0}^{2^{s}n} {2^{s}n \choose l} x_{h-l} x_{k-2^{s}n+l}.$$
 (2.4)

By Equation (2.1), it also follows that

$$\binom{2^s n}{l} \equiv 0 \bmod 2 \quad \text{for any } l \not\equiv 0 \bmod 2^s.$$

Thus the non-zero coefficients in the sum 2.4 possibly occur when  $l=2^sj$  for some  $0 \le j \le n$ . Hence

$$d^{2^{s}n}(x_{h}x_{k}) = \sum_{j=0}^{n} {2^{s}n \choose 2^{s}j} x_{h-2^{s}j} x_{k-2^{s}n+2^{s}j}.$$

We now invoke Lemma 2.1 for p = 2 to end the proof.

For any  $s \in \mathbb{N}_0$  we set  $\delta_s = d^{2^s}$ . We get

$$\delta_s(x_h) = x_{h-2^s} = d^{2^s}(x_h),$$
 (2.5)

and, according to Proposition 2.2 for n = 1,

$$\delta_s(x_h x_k) = x_{h-2^s} x_k + x_h x_{k-2^s} = \delta_s(x_h) x_k + x_h \delta_s(x_k). \tag{2.6}$$

Equation (2.6) shows that  $\delta_s$  is another derivation on  $\mathcal{Q}$ . Its *n*-iterated  $\delta_s^n$  acts as follows.

$$\delta_s^n : x_h \in \mathcal{Q} \longmapsto x_{h-2^s n} \in \mathcal{Q}, \tag{2.7}$$

and

$$\delta_s^n(x_h x_k) = d^{2^s n}(x_h x_k) = \sum_{j=0}^n \binom{n}{j} x_{h-2^s j} \ x_{k-2^s (n-j)}, \tag{2.8}$$

by Proposition 2.2.

Equations (2.5) and (2.6) tell us that the restriction of  $\delta_s$  to  $\mathcal{Q}_s$  yields to a derivation on  $\mathcal{Q}_s$ . Such restriction (that, abusing notation, will be again denoted by  $\delta_s$ ) allows us to get a new presentation of the algebra  $\mathcal{Q}_s$ .

**Proposition 2.3.** For any  $(s,n) \in \mathbb{N} \times \mathbb{N}_0$ , the following diagram commutes

$$\begin{array}{ccc}
\mathcal{Q} & \xrightarrow{d^n} & \mathcal{Q} \\
\downarrow \lambda^s & & \downarrow \lambda^s \\
\mathcal{Q}_s & \xrightarrow{\delta_s^n} & \mathcal{Q}_s
\end{array}$$

*Proof.* The statement is trivial for n = 0. When n = 1, note that  $\lambda^s \circ d$  and  $\delta_s \circ \lambda^s$  both map the monomial  $x_{i_1} \cdots x_{i_m}$  onto

$$x_{2^{s}(i_{1}-2)+1}x_{2^{s}(i_{2}-1)+1}\cdots x_{2^{s}(i_{m}-1)+1}+\cdots + x_{2^{s}(i_{1}-1)+1}x_{2^{s}(i_{2}-1)+1}\cdots x_{2^{s}(i_{m}-2)+1},$$

hence  $\lambda^s \circ d = \delta_s \circ \lambda^s$ . We now use induction on n:

$$\lambda^s \circ d^n = \lambda^s \circ d \circ d^{n-1} = \delta_s \circ \lambda^s \circ d^{n-1} = \delta_s \circ \delta_s^{n-1} \circ \lambda^s.$$

**Theorem 2.4.** A full set of generating relations for  $Q_s$  is

$$\{P_{n,t} \mid (n,t) \in \mathbb{N}_0 \times \mathbb{Z}\},\$$

where  $P_{n,t}$  is the polynomial on the right side of Equation (2.8) obtained by setting  $h = 2^{s+1}t + 1$  and  $k = 2^{s}t + 1$ .

*Proof.* It has been proved in [11] that the set

$$\{P'_{\ell,t} \mid (\ell,t) \in \mathbb{N}_0 \times \mathbb{Z} \},$$

of polynomials on the right side of Equation (2.3) obtained by setting h = 2t-1 and k = t is a set of generating relations for Q.

Since  $\lambda^s$  is a monomorphism (see [8]), a set of generating relations in  $Q_s$  is

$$\{\lambda^s(P'_{\ell,t}) \mid (\ell,t) \in \mathbb{N}_0 \times \mathbb{Z}\},\$$

We now use Proposition 2.3:

$$\lambda^{s}(P'_{\ell,t}) = \lambda^{s}(d^{\ell}(x_{2t-1}x_{t})) = \delta^{\ell}_{s}(\lambda^{s}(x_{2t-1}x_{t})) = P_{\ell,t-1}.$$

## 3 Invariant-theoretic description

Let  $\Gamma_n = \mathbb{F}_2[Q_{n,0}^{\pm 1}, Q_{n,1}, \dots, Q_{n,n-1}]$  be the Dickson algebra with the Euler class  $Q_{n,0}$  inverted. The generators  $Q_{n,i}$  can be defined inductively in terms of elements in  $\Delta_s = \mathbb{F}_2[v_1^{\pm 1}, \dots v_s^{\pm 1}]$ , which is also a ring of invariants (see [15] and [17]). In particular,

$$Q_{2,0} = v_1^2 v_2, \qquad Q_{2,1} = v_1^2 + v_1 v_2.$$
 (3.1)

In [11], Lomonaco proved that Q is isomorphic to  $\Delta/(\Gamma_2)$ , where  $\Delta$  is the algebra obtained by taking the graded vector space  $\bigoplus_{s\geq 0} \Delta_s$  (here  $\Delta_0 = \mathbb{F}_2$ ), and endowing it with the following multiplication

$$\mu: v_1^{i_1} \cdots v_h^{i_h} \otimes v_1^{j_1} \cdots v_k^{j_k} \in \Delta_h \otimes \Delta_k \longmapsto v_1^{i_1} \cdots v_h^{i_h} v_{h+1}^{j_1} \cdots v_{h+k}^{j_k} \in \Delta_{h+k}.$$

An isomorphism is given by

$$f: x_{i_1} \cdots x_{i_n} \in \mathcal{Q} \longmapsto [v_1^{i_1-1} \cdots v_n^{i_n-1}] \in \Delta/(\Gamma_2),$$

where [v] stands for the coset represented by  $v \in \Delta$ . One of the key points is that f maps the polynomial  $P'_{n,t}$  (which is 0 in  $\mathcal{Q}$ ) onto

$$\left[\sum_{i=0}^{n} \binom{n}{i} v_1^{2t-2-i} v_2^{t-n+i-1}\right]$$

which is represented by  $Q_{2,0}^{t-n-1}Q_{2,1}^n \in \Gamma_2$ .

As explicitly shown in [15], the following diagram

$$\begin{array}{ccc}
\mathcal{Q} & \xrightarrow{\lambda} & \mathcal{Q} \\
\downarrow^f & & \downarrow^f \\
\Delta/(\Gamma_2) & \xrightarrow{\tilde{\psi}} & \Delta/(\Gamma_2)
\end{array} \tag{3.2}$$

is commutative. In diagram (3.2),  $\tilde{\psi}$  is induced on the quotient by

$$\psi: v_1^{i_1} \cdots v_h^{i_h} \in \Delta \longmapsto v_1^{2i_1} \cdots v_h^{2i_h} \in \Delta.$$

It follows that  $f \circ \lambda^s$  is equal to  $\tilde{\psi}^s \circ f$  for any positive integer s.

Our aim is to identify  $f(\mathcal{Q}_s)$  inside  $\Delta/(\Gamma_2)$ . The element

$$(f \circ \lambda^s)(d^n(x_{2h-1}x_h)) = (\psi^s \circ f)(d^n(x_{2h-1}x_h))$$

is represented by  $Q_{2,0}^{2^{s}(h-n-1)}Q_{2,1}^{2^{s}n}$ . Further,

$$(f \circ \lambda^s)(d^n(x_{2h-1}x_h)) = f(\delta_s^n(\lambda^s(x_{2h-1}x_h))) = f(\delta_s^n(x_{2^{s+1}(h-1)+1}x_{2^s(h-1)+1})).$$

Set

$$\Delta^{s} = \bigoplus_{k>0} \Delta_{k}^{s} = \bigoplus_{k>0} \mathbb{F}_{2}[v_{1}^{\pm 2^{s}}, v_{2}^{\pm 2^{s}}, \dots, v_{k}^{\pm 2^{s}}], \qquad \Gamma_{2}^{s} = \mathbb{F}_{2}[Q_{2,0}^{\pm 2^{s}}, Q_{2,1}^{2^{s}}],$$

and note that  $\psi^{s}(Q_{2,0}) = Q_{2,0}^{2^{s}}$  and  $\psi^{s}(Q_{2,1}) = Q_{2,1}^{2^{s}}$  (it immediately follows from (3.1)).

Theorem 3.1.  $Q_s \cong \Delta^s/(\Gamma_2^s)$ .

*Proof.* Since  $\lambda^s$  is a monomorphism, by the commutativity of the diagram (3.2),  $\tilde{\psi}^s$  is a monomorphism as well, and  $Im(\tilde{\psi}^s) = \Delta^s/(\Gamma_2^s)$ . So  $\tilde{\psi}^s$  sets an isomorphism between  $\Delta/(\Gamma_2)$  and  $\Delta^s/(\Gamma_2^s)$ . By the commutative diagram,  $Q_s \cong Im(\lambda^s) \cong Im(\tilde{\psi}^s) = \Delta^s/(\Gamma_2^s)$ .

We could reword Theorem 3.1 by saying that the map f establishes a correspondence between the descending chain of subalgebras

$$\mathcal{Q} = \mathcal{Q}_0 \supset \mathcal{Q}_1 \supset \cdots \supset \mathcal{Q}_{s-1} \supset \mathcal{Q}_s \supset \cdots$$

and the chain

$$\Delta/(\Gamma_2) \supset \Delta^1/(\Gamma_2^1) \supset \cdots \supset \Delta^{s-1}/(\Gamma_2^{s-1}) \supset \Delta^s/(\Gamma_2^s) \supset \cdots$$

### Acknowledgements

This research has been carried out as part of "Programma STAR", financially supported by UniNA and Compagnia di San Paolo.

#### References

- [1] M. Brunetti, A. Ciampella, A Priddy-type koszulness criterion for non-locally finite algebras, Colloq. Math. 109 (2007), no. 2, 179–192.
- [2] M. Brunetti, A. Ciampella, L. A. Lomonaco, An embedding for the E<sub>2</sub>-term of the Adams spectral sequence at odd primes, Acta Math. Sin. (Engl. Ser.) 22 (2006), no. 6, 1657–1666.
- [3] M. Brunetti, A. Ciampella, L. A. Lomonaco, Homology and cohomology operations in terms of differential operators, Bull. Lond. Math. Soc. 42 (2010), no. 1, 53–63.
- [4] M. Brunetti, A. Ciampella, L. A. Lomonaco, The cohomology of the universal Steenrod algebra, Manuscripta Math., 118 (2005), no. 3, 271–282.
- [5] M. Brunetti, L. A. Lomonaco, An embedding for the  $E_2$ -term of the Adams spectral sequence, Ricerche Mat. **54** (2005), no. 1, 185–200.
- [6] M. Brunetti, L. A. Lomonaco, Chasing Non-diagonal Cycles in a Certain System of Algebras of Operations, to appear on Ricerche Mat.
- [7] R. R. Bruner, J. P. May, J. E. McClure and M. Steinberger,  $H_{\infty}$  ring spectra and their applications. Lecture Notes in Math., 1176, Springer, Berlin, 1986.
- [8] A. Ciampella, On a Fractal Structure of the Universal Steenrod Algebra, to appear on Rend. Accad. Sci. Fis. Mat. Napoli.
- [9] A. Ciampella, L. A. Lomonaco, *Homological computations in the universal Steenrod algebra*, Fund. Math. **183** (2004), no. 3, 245–252.
- [10] A. Ciampella, L. A. Lomonaco, *The universal Steenrod algebra at odd primes*, Comm. Algebra **32** (2004) no. 7, 2589–2607.
- [11] L. A. Lomonaco, *Dickson invariants and the universal Steenrod algebra*, Rendiconti del Circolo Matematico di Palermo (2) Suppl. No. **24**, 429–443 (1990).

- [12] L. A. Lomonaco, A basis of admissible monomials for the universal Steenrod algebra, Ricerche Mat. 40 (1991), 137–147.
- [13] L. A. Lomonaco, A phenomenon of reciprocity in the universal Steenrod algebra, Trans. Amer. Math. Soc. **330** (1992), no. 2, 813–821.
- [14] L. A. Lomonaco, The diagonal cohomology of the universal Steenrod algebra, J. Pure Appl. Algebra 121 (1997), no. 3, 315–323.
- [15] L. A. Lomonaco, Cohomology operations and Frobenius maps.
- [16] J. P. May, A general algebraic approach to Steenrod operations. The Steenrod algebra and its applications. Lecture Notes in Math., **168**, Springer, Berlin, 153–231, (1970).
- [17] W. M. Singer, Invariant theory and the Lambda algebra, Trans. Amer. Math. Soc. **280** (1983), pp. 673-693.
- [18] N. E. Steenrod and D. B. A. Epstein, Cohomology operations. Annals of Mathematics Studies, No. 50 Princeton University Press, Princeton, N.J. (1962).